Solution to QUIZ nr. 3

I. True statements: 2,4,5

II. The object will fall in the tunnel, and will

Accelerate towards the center of the Earth. 

It will pass the center of the Earth with maximal speed, and from that point on it will de-accelerate. If there is no air resistance, since the motion until the center of the Earth and from there to the surface on the other side is symmetric, the object will come out at the other side, and will fall back again from there.

It will make a kind of oscillatory motion.

If air resistance is present, the object will loose its maximal speed from the center before reaching the other side of the Earth, and will perform a kind of damped oscillatory motion. Finally it will get stocked in the center of the Earth.

III. let us denote by T1 the period of our satellite 

       and by r1 its radius. Let T0 be the period of the        

       geosynchronous satellite, and r0 it's radius. 

       Than we have:
[image: image1.wmf]3

0

1

0

1

)

(

r

r

T

T

=

(
[image: image2.wmf]3

/

2

2

1

0

1

)

(

T

T

r

r

=

(
       ( 
[image: image3.wmf]4

0

1

´

=

r

r

( r1=169480 km
_1032618452.unknown

_1032618550.unknown

_1032618412.unknown

